CoenacobaHo

— B14
— B13
2125
IK125
L=75m3 ) 125 150x100
Aany l L=50M3Yu .
0 125> % ' L=75m3/u 300x200 150x100
i//”//7 any 2 100 JK100 [K12°" 150x100
L=
oy | DKIO 8 12557 0128 L=50M3/u 1 500x200 \l... 75M3 48 0%100 L=150u3/u_
2 10055 \\\\Ei15°M3/” any 2125 400x300 L=200M3/4 ony_ e e L=150m3/u .
0125 S\ L=338M3/4 5 125 Bpeska b cyu. 125 — 4 N L=75M3/u
™ 7 00d —75m3 /4 L=2345M3/u e B : Ny
L=210m3K1 60T | \\\\\\ 1IK400x300 150x186 > - N N
2160 N | L=398M3 /6 ) 200x100 TIK100_ Bh 'S
Iy o SN A 2 K125 300x600 2100 L=200M3/4 % (cw) Y% _gny
L=128M3/ 60 Rb=150M /J/ L=234 L=300M3/4 2
JK1 S // any RN 5mM3/u 125
2125 IK160H 2 Al 5 1250K16059°0)  Bpeaka b _ 200x100 Bpeska 6 cyw.
Y X Lo 0T w. L=50M3,/uL=100M3/u ) 2 100 cucmemy B13
\ by ny \>rT L=350M3 |_|V eMy
L=60M3 4P 160 2 > pi| ’;’ cucmemy N7 M3 /1 I L=100M3
: o < IK160 Ry, 216 2 1003 q =100mM3/4
Z R 50 B |\l IK100 440
g 160 A N NS 2 160 200x150 .
N any o W 400x300 . § L=50M3/u
2105 L=120m3 /s AN o553 A L=90M3/u L=400Mm3/u i
) / 150x200 any, &
an [K400x200 o> 2 1 5o e ANV
2 160 2SN 3 2160 L=500m3/u 2100 &
200x200 & \IKTOR <5
N 400x200 WAT
L=795M3/ 400x200 \ 00x200 P600x600 Y
200x20¢)  L=1460M3/4 400:209 R 12 fz00 2100
B9 7953/ 83 =1340 // Qo> L= 1140m3£/ 2 100
— =795M3/u & L =
2 100 2100 / \ L=25M3/u
L=30m3 AK20OL >/ L=715MF/4 0 160
ﬁ L=20M3/ b 2 200 ‘i.:?s‘/ »" Any
300x200 2 100 any/ ; l T <~ﬂ B 0100 L=160m3/u Mns
2100 B | 180m3 /Sl NHENKI00, Tt
IK100 L=1045m3/u 8100 09 / \ / S
2 100 L=35M3)u JK100 2 100 300x200 NK300x200 2 206 2 200 ‘ 12 265 K 60 . .D:Iﬂgo
"] ]
L=60M3/ Ay | 2125 ‘*g L=20M3/4, J=865m3 /u 300x600 L=425M3/ - =2 1; K100 ;aeo 0160 &< Ay
o 1008 A 4ATP600X600 5160 L=80M3/§ N 2 160
any g, £ L=155M3ﬁhy . L=295m3/u | L=1045M3/u 1200 2125 2100 L=150M3 /4 RN 03K (Ho) K200 2 200
2 100% [OK10(» 2125 Y Bpeska & cyw, L=290M3/ | o N i _
2100 @ 125 cucmemy B9 L=80M3/w L=25M3/u K160 Xy d160 2 200 <N L=178m3/u
L=120M3/u K160 & J1K20 ) ﬂéy PN 160 NE 2 160 8 K160
IK125% L=175m37a 8 B9 (cyuw.) 2125 Any 0 K180 i 2 200 L=278Mm ”,/”' R
b 125 2 160 D .£|.|_| 5200 2 100 L=300M37Y L=300M3/u \ L=455m3 /u y \\\
L=120M3 JIK200x200 > 200 1 \\\\\\\ ’/,,/” any "
L=60m3/u o 3 00000 =540M3/50 4 200 x5 5 2 200
o 18 / ® L=520m3/ =% TRy
- S VB | =570m3 =320M9/H=180M3 /u - L‘
L=60M3/u ) 1%}81 0% TK200 / 2 250 2200 A K200 160
4 0 a L=755m3/u L=177m3/5‘ ny
100/ % @ L=20M3/u4 D 2160 2 250 4
2 - Y R — 2 100 S 2 200
L=30m3/4  \ MY 5100 any> ® L=340M3/ 11100 " — 4003 /4 L=755m3Xd I ns
2 100 2 200 any ",z' cuw)
OK160 } oo JK250.300x300 I .
'
NTD
2160 b 160 &, 2 160 \,Q L=925M3Yu"l  Boesxa b cuw,
L=105M3/4 _ L=195M3/u > L=160m3/u \ ¢ ,ﬂK206ucmEMu M5
any <% AK100- ANy > :,/’ 8 200
2 160 2 160 &N
2 100 52 EEHJOM3/q
L=35M3/u ¢ 200 B8
& oy — ;
® 2100 )" 03K (1.0,
B/ 100
ANy e X 2 100
2100 03K (h0) =20Mm3/u
H.0. IK100
d100 \\\\\
ﬂK16%ny OK100\ _Z
(<, &
B6 ) 2160 2160 2100 & 2 100
2 160 & \\eg L=300M3/u L=25m3/| L=45M3/u
“HK16DRE any  # 100
L=150M3/l 2 160 JIK100 2 100 i
250x150 e 100 JK100
z'ﬂang L=300M3/4 K100 A L=75m3/u 250x150 L= 2063/ L=30M3 /4 4‘/
4 @ < Y 4
A oamgaa) 2 100 200x100 8 ony L=206M3//u [IK200 any §, g
R 1-50m3 = Y5100 G~ 9200 01065 2
N 0bx100 4,,44’ N =130m3/u K100 2 100 ~i 250x150 2 03K (r.0.)
i 100 RN L=206M3 /4 / d100
\\\\\\ L=150M3Yg3 o L=30M3/4 ‘,;;// S 0x150 | L=283y3
J:ll'ly /\ JK1608% L=75M3 QA >\n / 2 100
2 06200x100 j:>§' 100 K100 2160 M / RS 5200 & I;O L=412M3fu K16}# —yy
’ 0 B 200x100 1oo -3 0 200 216
L 350M3 ooz 3 <% L=130M3/u ’,/' L=206M3yY B8 (cyw) | <¢'f’
= I{wb any L=100m3 A any I J;,ﬂ L 208M3/u
o 2 160 7 =900 300x25¢ ¢¢" any
200x150 8100 2160 ¢ ﬂK160 L= 900M ‘,, 250x250 5160
) Bé L=500m3/u L=100w3 /38 250x109 B, L=695m3/u
300x250 (] (cyw.) anyy e L=205M3/u 03K (n.0.)
) L=1465m$ 2 160 / 250x250
= 2 200 HKZO 250x10p Bpeska b cyuw.
% L=225m3/4 RS> "’\ Bpeska 6 cyw. L=205Mm3/u cucmemy B8
= 300x200 é'/, cucmemy B6
S 1K1 60.=965m 'ﬂﬂ‘jb 300x200
© 300x200 \ g S ANY  L=965m3/u
=965M3Yu 2200
o [IK760 //*. 8160
= 2 X L=140M3/u
=] 200x200 = Any
> 200x100 L=460M3)% ‘,‘ 2160 @160
> L=260M3/u L=140mM3/u
S any
=2 > 2 160
K200 5‘\\_‘ M3mM. |Kon.yy. | lucm N dok.| [Modn. |fdama
SIS
2200 S Cmadusa | /lucm Nlucmob
= = 03K (n.0.)
E L=200M3/u N $200 P 6
Y
= any’ ©
E 2 200 Cxemb cucmem Benmunayuu
[17, 15, B6, BS, B9, B13, B14
Konupoban A2




